EARAROBEEIERT — 2 N— IBISH —F

2018108178 (k) 14EIF5I28

B 3mlEC3—3C4—1 C3 ¥5%—#% ‘ (xfg] £ ‘ [REmsh]  — | & (&) 10000 T2
[AE£] 1% :250,000 ™ ~ 23#%&:50,000"  33&:38,000H  47&:2500MH ~ 57&:12,000H
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
PSR N BELA 01 - 4| - BIFEE (L)
11810 FINLTFy RZ— "3 A\54.0 1(%)3 . §.4 ! ‘zg? %KE%L e
R:Z2v—bhAEY B:JIL>FI VY BA Bk
T i 3 | BREE 1:01.5 4-4 36.8| — 1 510 | BHRE= (LiEE)
2 2 RoZy b 54.0 ) (-6) AHE -
L:TROXLTEL BAHHTIA ity BEA
. ft 3 | BB 1:01.8 1-1 8.1 — 3 484 | BTEE] (ALiEE)
N . NMEEEESES 50 P Gy | 8 =52
R:YZRE—3IZ24— BTAATE-F FrlbEALXTr—L
N NS BERY : = — ZHAKL (tEsE)
a1l | vr=s7onyn R i G N 2 Oy |
ARG T b A - —K—F BvI= Tyt b SRS
“ t 4 | FETE 1:02.4 8-6 37.4| — 8 434 | 1EFRFBK (AtiEE)
5 G 7 I —=FTI) — 54.0 (1/2) (-2) (%) iﬂi;é‘ﬁiﬁL
LY LSAN— R BN NS
=1 LT i :03. . 5| — FEAB (bmE)
cH¥6| 7 JTITr—L o4 an ! (033)0 108|375 ’ tg? Jez= i
LIV INATA—h— B:IUTL-—TAL b Eld=tie)
& S 3 | #HL&EZ 1:03.1 - . — HIE= (dtiEE)
71719 | AT 1 v 7 )X L e 54.0 (172) 108878 B ‘2(2);3 HABIE =
RivawFrhsT BU-—HLTU-2 EEEEAS
Sy =5 45 | AR 1:03.4 4-5 38.8| — 5 496 | NIBHEA (L&)
8|8l | F>F=Y 6.0 (1 1/2) oy |ERRE
L:24—-Y)>50-X B:=3 /v kL HET7— L
/ WA 53] :03. - 4l - TAES ()
olsls| Try—mz—7 i3 e 1(10?2)5 8-8 38.4 10 ;1_422) e 3]
LT IANIVE B:IFY—TC4IK FIER  SRTHE
X o4 | AIIE 1:03.7 7-6 39.0| — 6 496 | WHFIR (LiEE)
1007l 7YV /7EXD 54.0 (1) (o) | FANI .
LIT7IN—FK B:5vFx—IIx— LI
—: N EEEX . = - AORE (dtmE
1 3| FATH A~ 3 | BF 1.(0;).9 4-8 40.2 7 <4_720) kﬁ;% A
R:TTyIaFI—F BiFTLY— FEE A
@ 1 — S —EBlIEf
|2=3F=
23—F—
da=3r= 4,(1,10),(2,3,11),8,(5,7),(6,9)
40 —F— (4,10),1,2,11,(7,8), (3,5,6,9)
[ N3
B OB 10 1,020 74K 2-10 270/ & 2-8 680M & 2-4-10 780H
# B 10 180M 4-10 390M B = 2-10 910/ K31 10-2-4 8,880
2 110M 2-4 180M B H 10-2 3,280M
4 120

ABICOVWTRDTEEERROODE. TR LIV,




